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2. 4a*(x-5)-2a(5-x) & AFESIH?

@ 2a(x+5)(2a-1) @ 2a(x-5)(a+1)
® 2a(x-5)(2a+1) @ 2a(5-x)(2a+1)

® 2a(x-5)(1-a)
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D x243xy—292 = (2x+y) (x—2y)

@ x(y-1)-y+1=0p-1(x-1)

® ¥ —dx=x(x-2)°

@ x2-y?2 -2 +2y=(x+y)(x-y-2)

® (2x+1)°-(x-2)=Bx-1)(x+1)
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@ x2 4+ 3x @ x24+2x+1
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16. 4a? — 6ab & ASTEI|T A7

@® 4da(a-b) @ 2ab(a-3) ® a(a-b)

@ 2a(2a - 3b) ® 4a*(1 - 6b)
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siE4e o835k 132 - 122 = 13412 2 A4t

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)?
® a®>-b*=(a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)
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® a* +2ab+ b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a®-b? = (a+b)(a-b)
@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)
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@ 4a® - 2ab = 2a(a - b)

@ x% +20x—100 = (x+ 10)?
® —x*+1=(x+1)(-x-1)

@ x?-Tx+12=(x-2)(x-6)

® 10x? +23x-21 = (x+ 3)(10x - 7)
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® b+c @ a-c ® a+b @ a-b ® b-c
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